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Subjective questions

Question 1
Question Id : 1

Morphine is contraindicated in ?
Answer :

Option Id
(A) In angina

1001

(B) In bronchial asthma

1002

(C) In pancreatitis

1003

(D) In MI

1004

Right Answer :
In bronchial asthma

Right Option Id : 1002

Question 2
Question Id : 28

Digoxin should not be given when the heart rate is ?
Answer :

Option Id
(A) less than 60

28001

(B) less than 70

28002

(C) less than 80

28003

(D) less than 90

28004

Right Answer :
less than 60

Right Option Id : 28001

Question 3
Question Id : 29

The study of absorption, distribution, metabolism and excretion of drugs in the body is called-
Answer :

Option Id
(A) Pharmacy

29001

(B) Pharmacokinetics

29002

(C) Pharmacodynamics

29003



(D) Pharmacopoeia

29004

Right Answer :
Pharmacokinetics

Right Option Id : 29002

Question 4
Question Id : 30

How much potassium is in 1 ml of potassium chloride?
Answer :

Option Id
(A) 2 m Eq

30001

(B) 7 m Eq

30002

(C) 5 m Eq

30003

(D) 8 m Eq

30004

Right Answer :
2 m Eq

Right Option Id : 30001

Question 5
Question Id : 31

In the context of Pharmacy LASA Stands for:
Answer :

Option Id
(A) Lasa apso hi-res Stock

31001

(B) Latest Antibiotic for Staph Aureus

31002

(C) Look Alike Sound Alike

31003

(D) Low allergy Sub-acute Antigens

31004

Right Answer :
Look Alike Sound Alike

Right Option Id : 31003

Question 6
Question Id : 32

Which one is teratogenic drug?
Answer :

Option Id
(A) Retinol

32001

(B) Lithium

32002

(C) Valporate

32003



(D) All of the given options

32004

Right Answer :
All of the given options

Right Option Id : 32004

Question 7
Question Id : 33

The medicine for tuberculosis is-
Answer :

Option Id
(A) Isoniazid

33001

(B) Rifampin

33002

(C) Ethambutol

33003

(D) All of the given options

33004

Right Answer :
All of the given options

Right Option Id : 33004

Question 8
Question Id : 34

Medicines which cause serious disorders in the baby when passed through the mother to the baby, are called-
Answer :

Option Id
(A) Mutagen

34001

(B) Teratogen

34002

(C) Telogen

34003

(D) Pyrogen

34004

Right Answer :
Teratogen

Right Option Id : 34002

Question 9
Question Id : 35

Which of the following is a fat soluble vitamin?
Answer :

Option Id
(A) Thiamine

35001

(B) Ascorbic acid

35002

(C) Folic acid

35003

(D) Tocopherol



35004

Right Answer :
Tocopherol

Right Option Id : 35004

Question 10
Question Id : 36

Hay fever is caused by whose pollution in the air?
Answer :

Option Id
(A) Oxygen

36001

(B) Household dust

36002

(C) Vapors of pigments

36003

(D) Pollen grains

36004

Right Answer :
Pollen grains

Right Option Id : 36004

Question 11
Question Id : 37

What is the treatment given to a child suffering from HIV infection called?
Answer :

Option Id
(A) FRT

37001

(B) ART

37002

(C) ORT

37003

(D) MDT

37004

Right Answer :
ART

Right Option Id : 37002

Question 12
Question Id : 38

The amount of energy released by oxidation in the body is called-
Answer :

Option Id
(A) Basal metabolic rate

38001

(B) Caloric value

38002

(C) Physiological fuel value

38003

(D) metabolic rate



38004

Right Answer :
Physiological fuel value

Right Option Id : 38003

Question 13
Question Id : 39

The reason for reduced immunity after HIV infection is-
Answer :

Option Id
(A) Decrease in the number of CD4 lymphocytes

39001

(B) Increase in the number of CD4 lymphocytes

39002

(C) Decrease in the number of RBCs

39003

(D) Decrease in the number of platelets.

39004

Right Answer :
Decrease in the number of CD4 lymphocytes

Right Option Id : 39001

Question 14
Question Id : 40

When a drug is introduced into the bone marrow, this route is called-
Answer :

Option Id
(A) Intraperitoneal

40001

(B) Intrathecal

40002

(C) Intramedullary

40003

(D) Intraarterial

40004

Right Answer :
Intramedullary

Right Option Id : 40003

Question 15
Question Id : 41

Streptomycin should not be given orally, but should be given by injection, because-
Answer :

Option Id
(A) It is not absorbed when given orally.

41001

(B) It may injure the gastric mucosa

41002

(C) It produces more adverse effects when given orally.

41003

(D) It is not effective when given orally.



41004

Right Answer :
It is not absorbed when given orally.

Right Option Id : 41001

Question 16
Question Id : 42

The drug of choice to control premature labor is-
Answer :

Option Id
(A) Ritodrin

42001

(B) Terbutaline

42002

(C) Isoxaprine

42003

(D) Aspirin

42004

Right Answer :
Ritodrin

Right Option Id : 42001

Question 17
Question Id : 43

The medicine to reduce the pain of angina is-
Answer :

Option Id
(A) Penicillin

43001

(B) Nitroglycerin

43002

(C) Lasix

43003

(D) All of the given options

43004

Right Answer :
Nitroglycerin

Right Option Id : 43002

Question 18
Question Id : 44

A patient came to the casualty with acute bronchial asthma after treatment of glaucoma. The probable drug may be:
Answer :

Option Id
(A) Timolol

44001

(B) Betaxolol

44002

(C) Latanoprost

44003

(D) Anticholinesterase



44004

Right Answer :
Timolol

Right Option Id : 44001

Question 19
Question Id : 45

Which of the following drug is a SERM , useful for the treatment of osteoporosis?
Answer :

Option Id
(A) Raloxifene

45001

(B) Strontium

45002

(C) Bisphosphonate

45003

(D) Estradiol

45004

Right Answer :
Raloxifene

Right Option Id : 45001

Question 20
Question Id : 46

Angiotensin II causes all of the following; Except:
Answer :

Option Id
(A) Stimulates the release of ADH

46001

(B) Increases thirst

46002

(C) Vasodilation

46003

(D) Stimulates aldosterone release

46004

Right Answer :
Vasodilation

Right Option Id : 46003

Question 21
Question Id : 47

Which drug is not used for acute bronchial asthma?
Answer :

Option Id
(A) Propanolol

47001

(B) Salbutamol

47002

(C) Formeterol

47003

(D) Corticosteroids



47004

Right Answer :
Propanolol

Right Option Id : 47001

Question 22
Question Id : 48

Leukotriene receptor antagonist is ?
Answer :

Option Id
(A) Zafirlukast

48001

(B) Nedocromil

48002

(C) Latanoprost

48003

(D) Zileuton

48004

Right Answer :
Zafirlukast

Right Option Id : 48001

Question 23
Question Id : 27

Advantage of salmeterol over salbutamol is its:
Answer :

Option Id
(A) Shorter duration of action

27001

(B) More potency

27002

(C) Longer duration of action

27003

(D) Lesser cardiac effects

27004

Right Answer :
Longer duration of action

Right Option Id : 27003

Question 24
Question Id : 25

Which of the following is Not an adverse effect of salbutamol?
Answer :

Option Id
(A) Tachycardia

25001

(B) Tolerance

25002

(C) Hypokalemia

25003

(D) Hypoglycemia

25004



Right Answer :
Hypoglycemia

Right Option Id : 25004

Question 25
Question Id : 2

Antacid drug that typically causes diarrhea is:
Answer :

Option Id
(A) Sodium bicarbonate

2001

(B) Magnesium hydroxide

2002

(C) Calcium bicarbonate

2003

(D) Aluminum hydroxide

2004

Right Answer :
Magnesium hydroxide

Right Option Id : 2002

Question 26
Question Id : 24

Loading dose depends on the following factors, except:
Answer :

Option Id
(A) Drug concentration to be achieved

24001

(B) Volume of distribution

24002

(C) Clearance of drug

24003

(D) Bioavailability of drug

24004

Right Answer :
Drug concentration to be achieved

Right Option Id : 24001

Question 27
Question Id : 3

In oral poisoning with carbamate insecticides, which of the following may be hazardous?
Answer :

Option Id
(A) Pralidoxime

3001

(B) Atropine

3002

(C) Magnesium sulfate purgative

3003

(D) Gastric lavage with activated charcoal

3004



Right Answer :
Pralidoxime

Right Option Id : 3001

Question 28
Question Id : 4

A drug that competes for an active binding site is called:
Answer :

Option Id
(A) Competitive inhibitor

4001

(B) Non-competitive inhibitor

4002

(C) Covalent inhibitor

4003

(D) Covalent competitor

4004

Right Answer :
Competitive inhibitor

Right Option Id : 4001

Question 29
Question Id : 5

Therapeutic index is a measure of:
Answer :

Option Id
(A) Potency

5001

(B) Safety

5002

(C) Efficacy

5003

(D) Selectivity

5004

Right Answer :
Safety

Right Option Id : 5002

Question 30
Question Id : 6

Which of the following is the most powerful antioxidant?
Answer :

Option Id
(A) Vitamins A

6001

(B) Vitamins E

6002

(C) Vitamins C

6003

(D) Vitamins B - 12

6004



Right Answer :
Vitamins E

Right Option Id : 6002

Question 31
Question Id : 7

The following drugs are used in the management of postpartum hemorrhage, except-
Answer :

Option Id
(A) Oxytocin

7001

(B) Methyl ergometrine

7002

(C) Mifepristone

7003

(D) Carboprost

7004

Right Answer :
Mifepristone

Right Option Id : 7003

Question 32
Question Id : 8

Vitamin beneficial in osteoporosis in combination with vitamin D is
Answer :

Option Id
(A) Vitamin E

8001

(B) Vitamin A

8002

(C) Vitamin K

8003

(D) Vitamin B

8004

Right Answer :
Vitamin K

Right Option Id : 8003

Question 33
Question Id : 9

Clomiphene citrate is not known to produce which of the following effects in a young 30-year-old female (childbearing age group)?
Answer :

Option Id
(A) Hot flushes

9001

(B) Ovulation

9002

(C) Decreased FSH and LH secretion

9003

(D) Polycystic ovaries

9004



Right Answer :
Decreased FSH and LH secretion

Right Option Id : 9003

Question 34
Question Id : 10

Buprenorphine is-
Answer :

Option Id
(A) Partial agonist at u receptor

10001

(B) Partial agonist at k receptor

10002

(C) Full agonist at u receptor

10003

(D) Full agonist at a receptor

10004

Right Answer :
Partial agonist at u receptor

Right Option Id : 10001

Question 35
Question Id : 11

In order administer a drug safely, the nurse should know to read which of the following fact in the drug order
Answer :

Option Id
(A) name of the patient and name of the drug

11001

(B) dosage of the drug and route of administration

11002

(C) date and signature of the physician

11003

(D) All of the given options

11004

Right Answer :
All of the given options

Right Option Id : 11004

Question 36
Question Id : 12

Antitubercular drug that should not be given to a patient having both tuberculosis as well as AIDS is-
Answer :

Option Id
(A) INH

12001

(B) Ethambutol

12002

(C) Pyrazinamide

12003

(D) Thiacetazone

12004



Right Answer :
Thiacetazone

Right Option Id : 12004

Question 37
Question Id : 13

Dosage of albendazole in ascariasis is
Answer :

Option Id
(A) 400 mg once

13001

(B) 400 mg bd for one day

13002

(C) 400 mg tds for one day

13003

(D) 400 mg bd for 5 days

13004

Right Answer :
400 mg once

Right Option Id : 13001

Question 38
Question Id : 14

Erythromycin is given in intestinal hypomotility because-
Answer :

Option Id
(A) It increases the bacterial count

14001

(B) It decreases the bacterial count

14002

(C) It binds to adenylyl cyclase

14003

(D) It binds to motilin receptors

14004

Right Answer :
It binds to motilin receptors

Right Option Id : 14004

Question 39
Question Id : 15

Which of the following is not a keratolytic agent?
Answer :

Option Id
(A) Salicylic acid

15001

(B) Ethacrynic acid

15002

(C) Lactic acid

15003

(D) Glycolic acid

15004



Right Answer :
Ethacrynic acid

Right Option Id : 15002

Question 40
Question Id : 16

Intranasal calcitonin is used for:
Answer :

Option Id
(A) Paget's disease

16001

(B) MEN syndrome

16002

(C) Hypercalcemia

16003

(D) Postmenopausal osteoporosis

16004

Right Answer :
Postmenopausal osteoporosis

Right Option Id : 16004

Question 41
Question Id : 17

Which of the following drugs does not cross the placenta?
Answer :

Option Id
(A) Heparin

17001

(B) Warfarin

17002

(C) Dicumarol

17003

(D) Nicoumalone

17004

Right Answer :
Heparin

Right Option Id : 17001

Question 42
Question Id : 18

Stimulant purgatives are contraindicated in-
Answer :

Option Id
(A) Bed-ridden patients

18001

(B) Before abdominal radiography

18002

(C) Subacute intestinal obstruction

18003

(D) All of the given options

18004



Right Answer :
Subacute intestinal obstruction

Right Option Id : 18003

Question 43
Question Id : 19

Diagnosis of myasthenia gravis is done by using-
Answer :

Option Id
(A) Edrophonium

19001

(B) Neostigmine

19002

(C) Succinylcholine

19003

(D) Atropine

19004

Right Answer :
Edrophonium

Right Option Id : 19001

Question 44
Question Id : 20

The drug of choice for kala-azar is-
Answer :

Option Id
(A) Sodium stibogluconate

20001

(B) Amphotericin B

20002

(C) Pentamidine

20003

(D) None of the Given options

20004

Right Answer :
Amphotericin B

Right Option Id : 20002

Question 45
Question Id : 21

Most effective drug in severe falciparum malaria:
Answer :

Option Id
(A) Quinine

21001

(B) Artesunate

21002

(C) Chloroquine

21003

(D) Mefloquine

21004



Right Answer :
Chloroquine

Right Option Id : 21003

Question 46
Question Id : 22

Which of the following drugs is most likely to be effective against multidrug-resistant strains of M. tuberculosis, including those resistant to streptomycin?
Answer :

Option Id
(A) Amikacin

22001

(B) Clarithromycin

22002

(C) Gentamicin

22003

(D) Spectinomycin

22004

Right Answer :
Amikacin

Right Option Id : 22001

Question 47
Question Id : 23

Treatment of lepromatous leprosy is-
Answer :

Option Id
(A) Rifampicin + Dapsone

23001

(B) Rifampicin + Clofazamine

23002

(C) Rifampicin + Dapsone + Clofazamine

23003

(D) Rifampicin + Ofloxacin + Minocycline

23004

Right Answer :
Rifampicin + Dapsone + Clofazamine

Right Option Id : 23003

Question 48
Question Id : 49

PUVA therapy is used in:
Answer :

Option Id
(A) Psoriasis

49001

(B) Lichen planus

49002

(C) Freckles

49003

(D) Melasma

49004



Right Answer :
Psoriasis

Right Option Id : 49001

Question 49
Question Id : 26

Which of the following is an anabolic steroid?
Answer :

Option Id
(A) Methyltestosterone

26001

(B) Fluoxymesterone

26002

(C) Nandrolone

26003

(D) Danazol

26004

Right Answer :
Nandrolone

Right Option Id : 26003

Question 50
Question Id : 50

Parathyroid hormone:
Answer :

Option Id
(A) Decreases bone resorption

50001

(B) Increases bone resorption

50002

(C) Enhances phosphate reabsorption from kidney

50003

(D) Decreases calcium reabsorption from kidney

50004

Right Answer :
Increases bone resorption

Right Option Id : 50002

Question 51
Question Id : 51

The drug of choice for the treatment of thyrotoxicosis during pregnancy is-
Answer :

Option Id
(A) Carbimazole

51001

(B) lodine therapy

51002

(C) Propylthiouracil

51003

(D) Methimazole

51004

Right Answer :
Propylthiouracil



Right Option Id : 51003

Question 52
Question Id : 52

Insulin causes all of the following; Except:
Answer :

Option Id
(A) Glycogenesis

52001

(B) Glycolysis

52002

(C) Lipogenesis

52003

(D) Ketogenesis

52004

Right Answer :
Ketogenesis

Right Option Id : 52004

Question 53
Question Id : 53

Drug contraindicated in bilateral renal artery stenosis is-
Answer :

Option Id
(A) Propranolol

53001

(B) Guanethidine

53002

(C) Captopril

53003

(D) Amlodipine

53004

Right Answer :
Captopril

Right Option Id : 53003

Question 54
Question Id : 54

Best treatment for severe digitalis toxicity is-
Answer :

Option Id
(A) Potassium supplements

54001

(B) Diphenylhydantoin

54002

(C) Quinidine

54003

(D) Fab fragments of digitalis antibodies

54004

Right Answer :
Fab fragments of digitalis antibodies



Right Option Id : 54004

Question 55
Question Id : 55

Alteplase differs from streptokinase as it-
Answer :

Option Id
(A) Is longer acting

55001

(B) Is derived from human kidney

55002

(C) Is cheap

55003

(D) Activates plasminogen bound to fibrin

55004

Right Answer :
Activates plasminogen bound to fibrin

Right Option Id : 55004

Question 56
Question Id : 56

Which one of the following is not an antacid?
Answer :

Option Id
(A) Magnesium sulfate

56001

(B) Magaldrate

56002

(C) Magnesium carbonate

56003

(D) Magnesium phosphate

56004

Right Answer :
Magnesium sulfate

Right Option Id : 56001

Question 57
Question Id : 57

Pinpoint pupil suggests poisoning with-
Answer :

Option Id
(A) DDT

57001

(B) Opiates

57002

(C) Carbolic acid

57003

(D) Neostigmine

57004

Right Answer :
DDT



Right Option Id : 57001

Question 58
Question Id : 58

Savlon contains-
Answer :

Option Id
(A) Cetrimide and cetavlon

58001

(B) Cetrimide and chlorhexidine

58002

(C) Cetrimide, chlorhexidine and butyl alcohol

58003

(D) Cetrimide and butyl alcohol

58004

Right Answer :
Cetrimide and chlorhexidine

Right Option Id : 58002

Question 59
Question Id : 59

Increase in cAMP is caused by-
Answer :

Option Id
(A) Somatostatin

59001

(B) ẞ (Beta) receptor

59002

(C) α (Alpha) receptor

59003

(D) Acetylcholine

59004

Right Answer :
ẞ (Beta) receptor

Right Option Id : 59002

Question 60
Question Id : 60

Which of the following is a prodrug?
Answer :

Option Id
(A) Enalapril

60001

(B) Clonidine

60002

(C) Salmeterol

60003

(D) Acetazolamide

60004

Right Answer :
Enalapril



Right Option Id : 60001

General English

Question 61
Question Id : 70

Past tense of the word “Drive”?
Answer :

Option Id
(A) Driven

70001

(B) Drove

70002

(C) Drive

70003

(D) Derived

70004

Right Answer :
Drove

Right Option Id : 70002

Question 62
Question Id : 69

Past tense of the word “Freeze”?
Answer :

Option Id
(A) Freeze

69001

(B) Freezed

69002

(C) Frozen

69003

(D) Froze

69004

Right Answer :
Froze

Right Option Id : 69004

Question 63
Question Id : 66

Fill in the given sentence correctly:
The cow is ……. sacred animal.
Answer :

Option Id
(A) a

66001

(B) an

66002

(C) the

66003

(D) very

66004



Right Answer :
a

Right Option Id : 66001

Question 64
Question Id : 68

Fill in the given sentence correctly::
Mother Teresa……………..to help the helpless
Answer :

Option Id
(A) had used

68001

(B) use

68002

(C) was used

68003

(D) used

68004

Right Answer :
used

Right Option Id : 68004

Question 65
Question Id : 67

Change the following into passive voice ‘Do not insult your elders’
Answer :

Option Id
(A) Let not your elders be insulted

67001

(B) Your elders let not be insulted

67002

(C) Let your elders not be insulted by you

67003

(D) Let us not insult your elders

67004

Right Answer :
Let your elders not be insulted by you

Right Option Id : 67003

Question 66
Question Id : 61

A person who renounces the world and practices self discipline in order to attain salvation
Answer :

Option Id
(A) sceptic

61001

(B) ascetic

61002

(C) devotee

61003

(D) antiquarian

61004



Right Answer :
ascetic

Right Option Id : 61002

Question 67
Question Id : 65

Read the following passage and answer the questions that follow.

It should be remembered that the nationalist movement in India, like all nationalist movement, was essentially a bourgeois movement. It represented the natural
historical stage of development, and to consider it or to criticise it as a working-class movement is wrong. Gandhi represented that movement and the Indian masses in
relation to that movement to a supreme degree, and he became the voice of Indian people to that extent. The main contribution of Gandhi to India and the Indian
masses has been through the powerful movements which he launched through the National Congress. Through nation-wide action he sought to mould the millions and
largely succeeded in doing so, and changing them from a demoralised, timid and hopeless mass, bullied and crushed by every dominant interest, and incapable of
resistance, into a people with self-respect and self-reliance, resisting tyranny, and capable of united action and sacrifice for a larger cause.
Gandhi made people think of political and economic issues, and every village and every bazaar hummed with argument and debate on the new ideas and hopes that
filled the people. That was an amazing psychological change. The time was ripe for it, of course, and circumstances and world conditions worked for this change. But a
great leader is necessary to take advantage of circumstances and conditions. Gandhi was that leader, and he released many of the bonds that imprisoned and disabled
our minds, and none of us who experienced it can forget that great feeling of release and exhilaration that came over that Indian people.
Gandhi has played a revolutionary role in India of the greatest importance because he knew how to make the most of the objective conditions and could reach the heart
of the masses, while groups with a more advanced ideology functioned largely n the air because they did not fit in with those conditions and therefore not evoke any
substantial response from the masses.
It is perfectly true that Gandhi, functioning in the nationalist plane, does not think in terms of the conflict of classes and tries to compose their differences. But the
action he has indulged and taught the people has inevitably raised mass consciousness tremendously and made social issues vital. Gandhi and the Congress must be
judged by the policies they pursue and the action they indulge in. But behind this, personality becomes especially important in order to understand and appraise him. To
us he has represented the spirit and honour of India, the yearning of her sorrowing millions to be rid of their innumerable burdens, and an insult to India and her people.

Question : Which one of the following is true of the given passage?
Answer :

Option Id
(A) The passage is a critique of Gandhi’s role in Indian movement for independence.

65001

(B) The passage hails the role of Gandhi in India’s freedom movement.

65002

(C) The author is neutral on Gandhi’s role in India’s freedom movement.

65003

(D) It is an account of Indian Nationalist Congress’s support to the working-class movement.

65004

Right Answer :
The passage hails the role of Gandhi in India’s freedom movement.

Right Option Id : 65002

Question 68
Question Id : 64

Read the following passage and answer the questions that follow.

It should be remembered that the nationalist movement in India, like all nationalist movement, was essentially a bourgeois movement. It represented the natural
historical stage of development, and to consider it or to criticise it as a working-class movement is wrong. Gandhi represented that movement and the Indian masses in
relation to that movement to a supreme degree, and he became the voice of Indian people to that extent. The main contribution of Gandhi to India and the Indian
masses has been through the powerful movements which he launched through the National Congress. Through nation-wide action he sought to mould the millions and
largely succeeded in doing so, and changing them from a demoralised, timid and hopeless mass, bullied and crushed by every dominant interest, and incapable of
resistance, into a people with self-respect and self-reliance, resisting tyranny, and capable of united action and sacrifice for a larger cause.
Gandhi made people think of political and economic issues, and every village and every bazaar hummed with argument and debate on the new ideas and hopes that
filled the people. That was an amazing psychological change. The time was ripe for it, of course, and circumstances and world conditions worked for this change. But a
great leader is necessary to take advantage of circumstances and conditions. Gandhi was that leader, and he released many of the bonds that imprisoned and disabled
our minds, and none of us who experienced it can forget that great feeling of release and exhilaration that came over that Indian people.
Gandhi has played a revolutionary role in India of the greatest importance because he knew how to make the most of the objective conditions and could reach the heart
of the masses, while groups with a more advanced ideology functioned largely n the air because they did not fit in with those conditions and therefore not evoke any
substantial response from the masses.
It is perfectly true that Gandhi, functioning in the nationalist plane, does not think in terms of the conflict of classes and tries to compose their differences. But the
action he has indulged and taught the people has inevitably raised mass consciousness tremendously and made social issues vital. Gandhi and the Congress must be
judged by the policies they pursue and the action they indulge in. But behind this, personality becomes especially important in order to understand and appraise him. To
us he has represented the spirit and honour of India, the yearning of her sorrowing millions to be rid of their innumerable burdens, and an insult to India and her people.

Question : The change that the Gandhian movement brought among the Indian masses was ?
Answer :

Option Id



(A) Physical

64001

(B) Cultural

64002

(C) Technological

64003

(D) Psychological

64004

Right Answer :
Psychological

Right Option Id : 64004

Question 69
Question Id : 63

Read the following passage and answer the questions that follow.

It should be remembered that the nationalist movement in India, like all nationalist movement, was essentially a bourgeois movement. It represented the natural
historical stage of development, and to consider it or to criticise it as a working-class movement is wrong. Gandhi represented that movement and the Indian masses in
relation to that movement to a supreme degree, and he became the voice of Indian people to that extent. The main contribution of Gandhi to India and the Indian
masses has been through the powerful movements which he launched through the National Congress. Through nation-wide action he sought to mould the millions and
largely succeeded in doing so, and changing them from a demoralised, timid and hopeless mass, bullied and crushed by every dominant interest, and incapable of
resistance, into a people with self-respect and self-reliance, resisting tyranny, and capable of united action and sacrifice for a larger cause.
Gandhi made people think of political and economic issues, and every village and every bazaar hummed with argument and debate on the new ideas and hopes that
filled the people. That was an amazing psychological change. The time was ripe for it, of course, and circumstances and world conditions worked for this change. But a
great leader is necessary to take advantage of circumstances and conditions. Gandhi was that leader, and he released many of the bonds that imprisoned and disabled
our minds, and none of us who experienced it can forget that great feeling of release and exhilaration that came over that Indian people.
Gandhi has played a revolutionary role in India of the greatest importance because he knew how to make the most of the objective conditions and could reach the heart
of the masses, while groups with a more advanced ideology functioned largely n the air because they did not fit in with those conditions and therefore not evoke any
substantial response from the masses.
It is perfectly true that Gandhi, functioning in the nationalist plane, does not think in terms of the conflict of classes and tries to compose their differences. But the
action he has indulged and taught the people has inevitably raised mass consciousness tremendously and made social issues vital. Gandhi and the Congress must be
judged by the policies they pursue and the action they indulge in. But behind this, personality becomes especially important in order to understand and appraise him. To
us he has represented the spirit and honour of India, the yearning of her sorrowing millions to be rid of their innumerable burdens, and an insult to India and her people.

Question : Gandhi played a revolutionary role in India because he could ?
Answer :

Option Id
(A) Preach morality

63001

(B) Reach the heart of Indians

63002

(C) See the conflict of classes

63003

(D) Lead the Indian National Congress

63004

Right Answer :
Reach the heart of Indians

Right Option Id : 63002

Question 70
Question Id : 62

Read the following passage and answer the questions that follow.

It should be remembered that the nationalist movement in India, like all nationalist movement, was essentially a bourgeois movement. It represented the natural
historical stage of development, and to consider it or to criticise it as a working-class movement is wrong. Gandhi represented that movement and the Indian masses in
relation to that movement to a supreme degree, and he became the voice of Indian people to that extent. The main contribution of Gandhi to India and the Indian
masses has been through the powerful movements which he launched through the National Congress. Through nation-wide action he sought to mould the millions and
largely succeeded in doing so, and changing them from a demoralised, timid and hopeless mass, bullied and crushed by every dominant interest, and incapable of
resistance, into a people with self-respect and self-reliance, resisting tyranny, and capable of united action and sacrifice for a larger cause.



Gandhi made people think of political and economic issues, and every village and every bazaar hummed with argument and debate on the new ideas and hopes that
filled the people. That was an amazing psychological change. The time was ripe for it, of course, and circumstances and world conditions worked for this change. But a
great leader is necessary to take advantage of circumstances and conditions. Gandhi was that leader, and he released many of the bonds that imprisoned and disabled
our minds, and none of us who experienced it can forget that great feeling of release and exhilaration that came over that Indian people.
Gandhi has played a revolutionary role in India of the greatest importance because he knew how to make the most of the objective conditions and could reach the heart
of the masses, while groups with a more advanced ideology functioned largely n the air because they did not fit in with those conditions and therefore not evoke any
substantial response from the masses.
It is perfectly true that Gandhi, functioning in the nationalist plane, does not think in terms of the conflict of classes and tries to compose their differences. But the
action he has indulged and taught the people has inevitably raised mass consciousness tremendously and made social issues vital. Gandhi and the Congress must be
judged by the policies they pursue and the action they indulge in. But behind this, personality becomes especially important in order to understand and appraise him. To
us he has represented the spirit and honour of India, the yearning of her sorrowing millions to be rid of their innumerable burdens, and an insult to India and her people.

Question : The author concludes the passage by?
Answer :

Option Id
(A) Criticising the Indian masses

62001

(B) The Gandhian movement

62002

(C) Pointing out the importance of the personality of Gandhi

62003

(D) Identifying the sorrows of millions of Indians

62004

Right Answer :
Pointing out the importance of the personality of Gandhi

Right Option Id : 62003
General Knowledge

Question 71
Question Id : 80

 At which place on earth are there days and nights of equal length always?
Answer :

Option Id
(A) Equator

80001

(B) Poles

80002

(C) Prime Meridian

80003

(D) Nowhere

80004

Right Answer :
Equator

Right Option Id : 80001

Question 72
Question Id : 77

Who was honoured with the 53rd Dadasaheb Phalke Achievement award in 2023?
Answer :

Option Id
(A) Amitabh Bacchan

77001

(B) Rajnikanth

77002

(C) Asha Parekh

77003

(D) Waheeda Rahman



77004

Right Answer :
Waheeda Rahman

Right Option Id : 77004

Question 73
Question Id : 79

What is the nature of the strategy for survival?
Answer :

Option Id
(A) Association

79001

(B) Artificial selection

79002

(C) Rejection

79003

(D) Adaptation

79004

Right Answer :
Adaptation

Right Option Id : 79004

Question 74
Question Id : 78

Earth Day Celebrated on _______
Answer :

Option Id
(A) 4th April

78001

(B) 22nd April

78002

(C) 5th June

78003

(D) 17th September

78004

Right Answer :
22nd April

Right Option Id : 78002

Question 75
Question Id : 76

Which of the following is the capital of Arunachal Pradesh?
Answer :

Option Id
(A) Itanagar

76001

(B) Dispur

76002

(C) Imphal

76003

(D) Panaji



76004

Right Answer :
Itanagar

Right Option Id : 76001

Question 76
Question Id : 71

Which of the following states is not located in the North?
Answer :

Option Id
(A) Jharkhand

71001

(B) Jammu and Kashmir

71002

(C) Himachal Pradesh

71003

(D) Haryana

71004

Right Answer :
Jharkhand

Right Option Id : 71001

Question 77
Question Id : 75

The state bird of Uttar Pradesh is …..
Answer :

Option Id
(A) Peacock

75001

(B) Monal

75002

(C) Sarus crane

75003

(D) Pigeon

75004

Right Answer :
Sarus crane

Right Option Id : 75003

Question 78
Question Id : 74

   Which country is the fourth country to successfully land a spacecraft on the moon?
Answer :

Option Id
(A) China

74001

(B) Russia

74002

(C) India

74003

(D) USA



74004

Right Answer :
India

Right Option Id : 74003

Question 79
Question Id : 73

   Which of the following diseases are related to coronavirus ?
Answer :

Option Id
(A) SARS

73001

(B) MERS

73002

(C) Both SARS and MERS

73003

(D) None of the Given options

73004

Right Answer :
Both SARS and MERS

Right Option Id : 73003

Question 80
Question Id : 72

Who has been appointed as the cabinet minister for Education and Skill Development and Entrepreneurship, Govt. Of India in July 2021?
Answer :

Option Id
(A) Shri Dharmendra Pradhan

72001

(B) Shri Ashwini Vaishnav

72002

(C) Shri Arjun Munda

72003

(D) Dr Harsh Vardhan

72004

Right Answer :
Shri Dharmendra Pradhan

Right Option Id : 72001

Reasoning

Question 81
Question Id : 90

Complete the series 4,8,12,18,24,?
Answer :

Option Id
(A) 31

90001

(B) 30

90002

(C) 29

90003

(D) 36



90004

Right Answer :
30

Right Option Id : 90002

Question 82
Question Id : 89

Complete the series 5690,5121,4552,3983,3414,2845……….?
Answer :

Option Id
(A) 2276

89001

(B) 2516

89002

(C) 2356

89003

(D) 2456

89004

Right Answer :
2276

Right Option Id : 89001

Question 83
Question Id : 88

If CURRENCY is coded as DTSQFMDX then how will MONEY be coded?
Answer :

Option Id
(A) NNODZ

88001

(B) NPOFZ

88002

(C) LNMDX

88003

(D) NPMFZ

88004

Right Answer :
NNODZ

Right Option Id : 88001

Question 84
Question Id : 87

How many Bs come just after N in the following series ?
NBNNDBNNB
Answer :

Option Id
(A) One

87001

(B) Four

87002

(C) Two

87003



(D) Three

87004

Right Answer :
Two

Right Option Id : 87003

Question 85
Question Id : 86

Choose the correct option to replace the question mark (?)
Screen: Television :: ? : Car
Answer :

Option Id
(A) Computer

86001

(B) Wheel

86002

(C) Mobile

86003

(D) Airplane

86004

Right Answer :
Wheel

Right Option Id : 86002

Question 86
Question Id : 85

If day before yesterday was Saturday, what day will be day after tomorrow?
Answer :

Option Id
(A) Wednesday

85001

(B) Friday

85002

(C) Thursday

85003

(D) Saturday

85004

Right Answer :
Wednesday

Right Option Id : 85001

Question 87
Question Id : 84

Based on the alphanumeric series given below, answer the following question
D R 7 3 N H * A 4 N J # 5 N % U 5 M P + 2 D T $ E 3 K R @ 2
What is the second element to the right of the 7th element from the left ?
Answer :

Option Id
(A) A

84001

(B) 4

84002

(C) N



84003

(D) 3

84004

Right Answer :
4

Right Option Id : 84002

Question 88
Question Id : 83

If in a certain language, NOIDA is coded as OPJEB , how is DELHI coded?
Answer :

Option Id
(A) CDKGH

83001

(B) EFMIJ

83002

(C) FGNJK

83003

(D) IHLED

83004

Right Answer :
EFMIJ

Right Option Id : 83002

Question 89
Question Id : 82

A is B’s sister. C is B’s mother. D is C’s father. E is D’s mother. Then how is A related to D?
Answer :

Option Id
(A) Grandfather

82001

(B) Grandmother

82002

(C) Granddaughter

82003

(D) Daughter

82004

Right Answer :
Granddaughter

Right Option Id : 82003

Question 90
Question Id : 81

 In a certain code language ,’ANIMALS’ is written as ‘SLAMINA’ , then how will ONLINE be written ?
Answer :

Option Id
(A) ENILNO

81001

(B) OLINEN

81002

(C) LNOINE



81003

(D) NNLOIE

81004

Right Answer :
ENILNO

Right Option Id : 81001

Mathematical Aptitude

Question 91
Question Id : 99

Write the multiplicative inverse of -13/19?
Answer :

Option Id
(A) 13/19

99001

(B) 19/13

99002

(C) -19/13

99003

(D) -26/38

99004

Right Answer :
-19/13

Right Option Id : 99003

Question 92
Question Id : 98

Find the value of x in this equation: (3+x) / (2x-3) = -1/2
Answer :

Option Id
(A)  4/3

98001

(B) -3/4

98002

(C) -2/3

98003

(D) 1/2

98004

Right Answer :
-3/4

Right Option Id : 98002

Question 93
Question Id : 97

In a quadrilateral ABCD, the measure of the three angles A, B and C of the quadrilateral is 110°, 70° and 80°respectively. Find the measure of the fourth angle
Answer :

Option Id
(A) 130°

97001

(B) 120°

97002



(C) 100°

97003

(D) 90°

97004

Right Answer :
100°

Right Option Id : 97003

Question 94
Question Id : 96

In central school there are 456 girls. calculate the total number of students if 24% of the total students are boys.
Answer :

Option Id
(A) 500

96001

(B) 700

96002

(C) 800

96003

(D) 600

96004

Right Answer :
600

Right Option Id : 96004

Question 95
Question Id : 91

Keshav has Rs. 200 with her, and she spent 80% from the amount she had. Calculate the money left with her.
Answer :

Option Id
(A) Rs. 20

91001

(B) Rs. 10

91002

(C) Rs. 40

91003

(D) Rs. 30

91004

Right Answer :
Rs. 40

Right Option Id : 91003

Question 96
Question Id : 94

The equation y=5, in two variables, can be written as:
Answer :

Option Id
(A) 1.x + 1.y=5

94001

(B) 0.x + 0.y=5

94002



(C) 1.x + 0.y=5

94003

(D) 0.x + 1.y=5

94004

Right Answer :
0.x + 1.y=5

Right Option Id : 94004

Question 97
Question Id : 93

Find the number of solutions of the following pair of linear equations x+2y-8=0 and 2x+4y= 16 :
Answer :

Option Id
(A) 0

93001

(B) 1

93002

(C) 2

93003

(D) INFINITE

93004

Right Answer :
INFINITE

Right Option Id : 93004

Question 98
Question Id : 92

Which of the following pairs can form a linear pair?
Answer :

Option Id
(A) Pair of complementary angles

92001

(B) Pair of supplementary angles

92002

(C) Pair of adjacent angles

92003

(D) Pair of vertically opposite angles

92004

Right Answer :
Pair of supplementary angles

Right Option Id : 92002

Question 99
Question Id : 95

How many vertices does a cube have?
Answer :

Option Id
(A) 2

95001

(B) 4

95002

(C) 8



95003

(D) 6

95004

Right Answer :
8

Right Option Id : 95003

Question 100
Question Id : 100

How many faces does a triangular pyramid have?
Answer :

Option Id
(A) 1

100001

(B) 2

100002

(C) 3

100003

(D) 4

100004

Right Answer :
4

Right Option Id : 100004


